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GENERAL MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any NINE parts from Section ‘B’ and any FOUR questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer shegit l.e. Sheet—B If required. Write your answers
neatly and legibly. Graph paper will be provided on requsest.

SECTION - B (Marks 38}

Q.2  Attempt any NINE parts. All parts carry equal marks. (9x4=36)

x*+x x-1
2 X3
x-x x +1

(i) Simplify

(i) If P(r)y=2zr ,thenfind P(r)for r =3and = =~2~7«2-
(iii) Resolve into factors: Z* + 64y*

(v Ifx—aisthe HC.Fof x’—x—6and x*+3x—18then find the value of a.

@ +ab+b? N a* —ab+b?

\ Simplify:
v phfy a+b a-b
(i) Solve the inequality. %x>%(x—l)

(vi)  Solve by completing square method: x* +x—~1=0
{viii) The difference of two numbers is 9 and the product of the numbers is 162. Find the two numbers.

. , a b ¢ 3 -2 1 -1 -2 3
(ix) Find a, b, ¢, d, e and f such that; J - =

e f 5 0 -4 -2 4 6
() Use Cramer’s rule to solve the simultaneous equations. Give the reason where solution is
L 2x+ y=1
not possible.
5x+3y=2

(xi)  Calculate the radius of a sphere of volume 850m° . (n‘ = %)

{xi)  Find H.C.F by division Method: 4x* +2x> —6x , 4x° —8x+4

(xii)  Ifx=+5+2, thenfind: x+~ and x* +i2
X X

(xiv)  Find the value of o> —»’when a—b=4and ab=-5

SECTION — C (Marks 3

Note: Attempt any FOUR questions. All questions carry equal marks. (4x6=24)

Q.3 Forwhatvalueof x, x*+4x’+x+ —82- +—{;— is a complete square, where x =0
X X

Q4. P(x)=x" -kx’ +3x+5 is divided byx—1, find k if remainderis 8
Q5.  Construct a rectangle with sides 10 cm and 6 cm.
Q6. Find the area of the room 5.49 m long and 3.87 m wide. What i§ the cost of carpeting the room if the rate of

the carpet is Rs. 10.50 per m? ?
Q7. Show that the points A(1,4), B(5,6) and C(9,8) are collinear.

Q8. Show thatthe points 4(4,-2), B(-2,4)andC(5,5) are the verlices of isosceles triangle.
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GENERAL MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any NINE parts from Section ‘B’ and any FOUR guestions from Section ‘C’ on the separately
provided answer book. Use supplementary answer shewl l.e. Sheet-B If required. Write your answers
neatly and legibly. Graph paper will be provided on request.

SECTION ~ B (Marks 3§

Q.2 Attempt any NINE parts. All parts carry equal marks. (9x4=36)

2
()  Simplfy =%« Jg’]
x-x x +1

(i) If P(ry=27zr  thenfind P(+)for r =3and ,,=.272

{iii} Resolve into factors: Z* + 64y*

(v  If x—aisthe HC.Fof x*-x—6and x*+3x-18then find the value of a.

a’ +ab+ b +a2—ab+bz

\ Simplify:
V) piify a+b a—b

{vi) Solve the inequality: éx >%(x—l)

(vi)  Solve by completing square method: x> +x—1=0
(vii)  The difference of two numbers is 9 and the product of the numbers is 162. Find the two numbers.

b 3 -2 1 -1 -2 3
(ix) Find a, b, ¢, d, e and f such that: [: ¢ J -[ }:{ }

e f 5 0 -4 -2 4 6
(%) Use Cramer's rule to solve the simultanecus equations. Give the reason where solution is
o 2x+ y=1
not possible.
Sx+3y=2
. _ 3 22
(xi) Calculate the radius of a sphere of volume 850m”° . | r =—7-

(xii)  Find H.C.F by division Method: 4x* +2x%> —6x , 4x* —8x + 4

(xii)  Ifx=+5+2, then find: x+~ and x2+—15
X X

(xiv)  Find the value of &’ —*when a-b=4and ab=-5

SECTION - C (Marks 28
Note: Attempt any FOUR questions. All questions carry equsi marks. (4x6=24)

8§ 4.
Q.3 Forwhatvalueof x, x*+4x®+x+-—5+—is a complete squawe, where x =0
X X

Q4. IfP(x)=x" -k’ +3x+5 isdivided byx -1, find k if remainder is 8
Q5.  Construct a rectangle with sides 10 cm and 6 cm.
Q6. Find the area of the room 5.49 m long and 3.87 m wide. What is the cost of carpeting the room if the rate of

the carpet is Rs. 10.50 per m*?
Q7.  Show that the points A(1,4), B(5,6) and C(9,8) are collinear.

Q8. Show that the points 4(4,-2), B(-2,4)and C(5,5) are the verices of isosceles triangle.
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